Model Question Paper
B.A. Honors Part 1,2011-12

Faculty of Arts

Philosophy
Paper - IV
(Logic)
Time: Three Home Maximum Mrks:75
[Marks:45] Part- A (@vs "ar)

Answer all'Questions.

All Question carry equal marks.
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Part- B (@vs ") [Marks:45]

Answer any Three question (300-400 word each) out of Five. All  question

carry equal marks.
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Part- A (@vs "a3r)

Answer the following Questions.
Frfeiad uel & IR SIRIY |
1. who defind logic asan art&science of reasoning?
(A)Aldrich (B) Arnold
(C) Whetley (D) Hamilton

dDHITA B "Th B Hell AR AT & w9 A fbas aRamr - fean

(31) ) 3U|6||§3'6| (Ef) IRACS
() =call (©) eficen

2. Logically the Question of validity& invalidity is
related to.

(A) Statement (B) proposition
(C) Sentence (D) Atgument
diferd gfic | Jua-saedr &1 U fHa IR 2|
31) ara q) d& a1
) B <) gfad
3. Logic is related to.
(A) Formal (B) Material truth
(C) Both (D) None of the above
dH I BT T=Y ¢ |
31) IMHIR® T A 9) IRdfd® FIdr |
9) H A T) SR § A BIs 78]
4. Aternis.

(A) A word



(B) A word whichisonly  subject of a proposition

(C) Single or many words which are subject & predicate
any proposition

(D) A Copula

Th g B
31) TH T
d) Udh ¥ Sl Bl @ ardd BT A1 Iqeed Al o
H) TP IT 3D IS © off (bl ddb I & Iqaed I1 fqe
Il ¢ |

?) Uh HASTD
5. Denotation of term is:
(A) It's extension (B) It's attribute
(C) Both (D) None of the above
fodil ug @1 afad 919 &
(@) ) SFdr far (@)t T
() SWRIFT a1 (®) Bz T2l
6. The term which connects two terms of any proposition
is called.
(A)Subject (B) Copula
(C) Predicate (D) Above all
g S fhdl d@ aidd & T IR IR HRAT 8, hedldl a—
(31) Igaed CINRINED
(|) fagg () SWIad
7. The term. Which indicates a certain meaning is
called-
(A)Singular tern (B) Negative term
(C) Plural term (D) Abstract term

ag g o fAfdaq et & gfea oxar 8, dEand 8-
(31) Upreie ug (@) veTS U
SIEREICERRCE (]) AAaTHS U



8. “Man is rationl being, working in an office’, It has
which definitional fallacy? t

(A)Non extensive (B) Accidental

(C) over extensive (D) Futile

A A § B a1 aren faarefa uoft &7 gad s
R QY 2
(31) 3T (@) RHD
() afereare (2) =g

9. Definition of ‘summum genus’ is not possible. It
reflects definition’s-

(A)Utility (B) Importance

(C) Limition (D). None
"URH ST BT URETT §9G 81 2 T8 ST DRl & YRHATT
i

(a1) ST (@98

(%) <A (%) @ T

10. What is proposition?

(A)A judgment
(B) A sentence of'grammar

(C) A judgment-expressed in language
(D) A predicate

dd aTag. T 27

(@1) Tt Aoty (§) SATHOT BT ATH
() T # Srferad Aoty (]) & fawrm
11- Which type of proposition is this?
(A)Relative (B) Categorical
(C) Hypothetical (D) None of the above

) S wRorEie B



12

IJg dp drad g YR &7 27

(31) wTuer (@)f=uer
(4) sqwaTe (@) SR H & IS el
“‘Ros is red'
Which type of proposition is this?
(A) Compound (B) Simple
(C) Both (D) None of the above
IE dP ar9] fhd UHR BT 8 2
(@1) s (@)=
(#) < () ®1$ T

13. Two propositions are contradictory if:
(A)They are different in quality

(B) They are different in quantity

(C) They are different in quality-& quantity
(D) There are difference

Bl db IR AT Ik, 8-
@) T wor # =1 B B

@) aRomm # 147 B =
(&) T o1 iR gRomH H-f= 81T 2
(‘q’)ﬁ‘s‘ﬁ‘q’ﬂé‘rgﬁ%‘l

14. The logical form of this ex. Will be’.

(A)AIl human beings are selfish

(B) Accidental Some human beings are selfish
(C) Some human beings are not selfish

(D) No human beings are selfish
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15. The relation between A&l proposition is

(A)Contradicition (B) Contrariety

(C) Sub contrariety (D) Sub alternation
A R | T® araa & 94........... T T

(1) TITAh T (@) faurar

(%) srgfamraaT () Sumfraa

16. A term is called distributed when:
(A)lt includes whole denotation.
(B) It includes whole Connotation
(C) ltincludes paetial denotation.
(D) It includes paetial denotation:

U g dYl AT el Sdl & ofd—
(o1) I gol fdcary # ygad o |

(@) fardaaras ot waTade 3 uga 8 |
() Tz <1 fdaae §-ugad 8l |
(%) I8 AT wawTaare o ggad el |

17. Out of the following which one Venn Diagram is appropriate
symbol of

Following proposition:
No being is immortal.

S=Being

P= Immortal

@n ®IE F-T. 78 B | @) T 9 2|

() BB T T @) H© 9 T T2l 7|

19. Different types of relation of predicate with subject is

called-
(A)Proposition (B) Term
(C) Predicables (D) None

O &7 IS & AT I UBR & AT Pl HBd T |



(&) dpared (@)ue
() aremerd (T) ®IE &1

20. Find out logical fallacy in the following categorical syllogism
All doge are mammals
All Cats are mammals
All Cats are dog.

(A)Fallacy of illicit major term. (B) Fallacy of illicit
minor term.
(C) Fallacy of negative premises. (D) Fallacy of

undistributed middle term.

=1 fRUer =ragfad # 9@ Y 9drsy |

|G Hd IR E |
a9 fafeerall =Rl € |
. 99 fafeerdt o 2 |
(31) ) ergferd geu ug < (@3 e ug QY
() FIYeTHS MR aT9d ]y (&) 3T WegH US QIY
21. My hand touchestable

Chair touches-my hand.
Chair touches table.
This syllogism has fallacy of-

(A)Undistributed middle term (B) Four term
(C) Negative premises (D) None

HRT BT 7l BT BT & |
FHA W BT B Bl 7
&7 AT BT B |
9 gfad # <Y 2—
(31) ) ST HEOH US QI (&)ergwel |
() FYeTH® MERATR &7 T (®) Py &I

22. All educated are intelligent.
He is not educated



He is not intelligent.
The figure & mood of this syllogism is-

(A)EEE-1 (B) AAE3
(C) AEE3 (D) AOO-2
[T fRrferd gigar 81d 2 |
gz fufea = 2
I8 gfguE & B |
9 =T o B i g rave.. B
(a1) S%3—1 ()TTs-3
() uss—3 BREISIE
23. No tragedy actor is happy person..

Some comedy actors are not happy.
Some comedy actors are not tragedy actors.
The major term of above syllogism is........
(A)Comedy (B) Some
(C) Tragedy actor (D)-Happy person

BIS T AT e Afe e 2 |
Fo fare ifmar w9 781 2 |
HB 39 <Iffmar g srfimar &1 2 |
SUgFd =agfad &1 &b ug =
(1) fa=areT arfasrar @)xo
(|) g Af=ar (&) g eafad

24. Out of the following which presents third figure?
(AM-P (B) P-M (C) M-P (D) P-M

M-S M-S S-M S-M
= § | BT A BT BT IRGd HRT © |

@) #9 @) u-H S5 (]) u—H
q—4 q—4 -4 -4

25. Which term is not present in the conclusion of categorical
syllogism?



(A)Major term (B) Minor term

(C) Middleterm (D) Copula

fRUer =mfad & frad # $iFar ug 78 grr 22
(@) ) T g (@) g
(9) 999 Ug GRSRISED

26.  All humam beings are mortal.
All Indians are humam beings
The valid conclusion can be deducd from above premises
will be
(A% All Indians are mortal
(B) No Indians are mortal
(C) Some Indians are mortal
(D) Some Indians arenotmortal
it A RO 2
T IR s E |
SR IR IR A a9 ®9 A S pY g {Har SIrar Gadl &, U8
2FT—
@) T YRA RO © |
(@)PTS IRAT AU et B
() BB IRA™ w2
(3) BB WRAI AROTRN Tl € |

27. Syllogism is called. .......... inference.
(A)Inductive (B) Mediate
(C) Middleterm (D) Copula
AT BT . 3T HET I 2 |
(31) SMTH-TH® CEEIRS]
(%) sregafed (%) @z T

28. In a syllogism by two premises third statement is
deduced by........
(A)Separate (B) Think together



(C) INo thinking (D) Above all

H ST SMURATER | ORI T ........... FRTHT BT 2 |
(31) 3Tl 3T foaR &=+ ¥ @)ud At R a3+ 9
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29. Which venn diagram represents the correct form of following
syllogism?
fRUer =mefad & ey § S ug T8 gar 82

' (B) M

(D)

A. All Swans are white.
B..Some Birds are Swans

C. Some Birds are white.
DA I\ IR =gfad & |El w9 Bl YaRid Rl 57
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(C) (D)

30. Out of the following Venn diagrams which one shows the
validity of the
syllogism?

All ghost are imaginary beings.
No entrepreneur is imaginary beings.
No entrepreneur is ghost.

(A) / (B) M
(C) ” (D) M

PRI I XETRET 79 BT YETE Rgfad &1 dgar o
ENIIET
Tt 9 Bwreaf gt B 2
o1g N Sel Freufe yrft T8 g 2|
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31. Founder of traditional logic is-
(A)Descartes (B) Aristotle
(C) Bool (D) Venn
RURTTT dh IS BT UfaursH é—
(87) ST ()31
(%) et () o

32. What is the meaning of symbol x in Venn diagram?
(A)Null class (B) Empty class
(C) None empty class (D) Tenthclass
I NG H X Ul T 91 aread 87
(31) Tl FITH (@R T
() offeRed ot GESECH

33. What does shaded class denotes in venn diagram?
(A)Class is not empty (B) Class empty

(C) Class is particular (D) Class is negative
I NG UgfT # I BT ISSS- IR BT Nk B

(@1 ot Raa =&t 8 @)at Raa

@) T ey GIEEURBLEIRIED

34. Symbolization of ‘All S'is'P,” peoposition will be
(A)SP=0 (B)SP=0 (C) SP=0 (D) SP=0
T T TR TD GG BT UATDHIBI0T ERTI—
@@\ T=0 @wu=0 (@ WI=0 @& HWI=0
35. S P=0 is the symbol of whoch proposition ?
(A)A BE (€)1 (D)O
T 9 =0 f&d b ar9g &1 Tdid g2
@T @z @ e @M

36. Induction propounds the law of.............

(A)Extensive (B) Particular
(C) Particular & Extensive (D) None of the above
3ITH........ fARTHE @Y RITYAT HRT B

(31) =mu® (@)faey



() foery aas () SWRIed § | PIs &l

37. Real basis of scientific induction.........
(A)Observation
(B) Observation& experiment
(C) Law of the uniformity of nature & law of causation
(D) Above all
JSM® aFTAE & aRdfdd MR 8-
(31) foxferor
(@)fRIetor va gt
) Ygfd Ul BT 14 AR BRI B 74
(]) SURIGd AHI

)

38. Observation means-
(A)To observe natural event purposefully & uncontrolled.
(B) To observe natural event purposefully & controlled.
(C) To observe natural event aimlessly & uncontrolled.

(D) None of the above.
foleTor | a2
(31) UTRfdes Tl Bl IqaT. Ud AT =T |
(@)Ureicier TeT Bl Igqed, Vg FERa Q= |
() Ui TeT B FReesd Ug MR <o |
() SWRIFT H ¥ BIS-Ta!

39. General characteristic of scientific & nonscientific hypothesis

is
(A) Experiment (B) Testing
(C) Supposition (D) Conservative
JSH 3R AT UThedwTeil & AT faeryar 8—
(31) TRt (@) oRTeToT
(|) Irchararsl (]) wfSarfadr

40. Nature of scientific hypothesis is
(A)Certain (B) Conservative
(C) Probable (D) None of the above



JSN=P UTheudT BT Tawt B—

(31 FiR=a (@)wfeTa
() T (T) SWRIad H A BIg T8l
41. Nature of scientific explanation is
(A)Uncertain (B) Certain
(C) Hypothetical (D) Conservative
IS® ARAT BT W@HY 28—
(37) it (@)f e
(|) UThI-TcHSD (®) wfeTa

42. Scientific explanation isrelated to

(A)General (B) Particular

(C) Both (D) None of the above
IS AT BT He AT 8—

(o1) =T @ @)fey |

(@) g (3) SWIad # A I &l

43. Aim of Mill's method is
(A)Establish causal relation by elimination
(B) Show uniformity of nature
(C) To interpret

(D) None of the above

e & Ugfa B1-33aT —

(31) FPRTHRUT ERT B HROT T AT HRAT |
)AL GIEGIEL

c

@) @rEr (]) SWRIGT § 9 Blg el
44. Only one event is common in all examples. So it is taken as a
cause. ltis
Called method of...........
(A)Residue (B) Agreement
(C) Disagreement (D) Joint method of agreement&

Disagreement



(31) Ty (@)3rad
(@) aaftr® (8) 399 Uq AfeRed o Fgad fafer

45. In Mill's method...... method is taken as basic
(A)Concomitant (B) Disagreement
(C) Agreement & Disagreement (D) Concomitant &
residue



